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0000 hymanl

bool want[2];
bool turn;

byte cnt;

proctype P(bool i)

{
want[i] = 1;
do
(turn !'= i) -> ('want[1-i]); turn = i
(turn == i) -> break
od;

/* critical section */

cnt = cnt + 1;

assert(cnt == 1);

cnt = cnt - 1;

want[i] = O;

init { run P(0); run P(1); }
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*1 http://spinroot.com/spin/Man/Manual .html
*2000000000000000 Basic Spin Manual 00000000000
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% spin -a hymanl

% gcc -DSAFETY -o pan pan.c

% ./pan

pan: assertion violated (cnt==1) (at depth 12)

pan: wrote hymanl.trail

(Spin Version 5.1.4 -- 27 January 2008)
Warning: Search not completed

+ Partial Order Reduction

Full statespace search for:
never claim - (none specified)

assertion violations +

cycle checks (disabled by -DSAFETY)

invalid end states +

State-vector 36 byte, depth reached 23, errors: 1
60 states, stored
16 states, matched
76 transitions (= stored+matched)
0 atomic steps

hash conflicts: 0 (resolved)

4.653 memory usage (Mbyte)
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% spin -t -p hymani
Starting :init: with pid O
Starting P with pid 1
1: proc O (:init:) line 22 "hymanl" (state 1) [(run P(0))]
Starting P with pid 2

2: proc O (:init:) line 22 "hymanl" (state 2) [(run P(1))]
3: proc 2 (P) line 7 "hymanl" (state 1) [want[i] = 1]
4: proc 2 (P) line 9 "hymanl" (state 2) [((turn!=i))]



5: proc 2 (P) line 9 "hymanl" (state 3) [(!(want[(1-i)]1))]

6: proc 1 (P) line 7 "hymanl" (state 1) [want[i] = 1]

7: proc 1 (P) line 10 "hymanl" (state 5) [((turn==i))]

8: proc 2 (P) line 9 "hymanl" (state 4) [turn = i]

9: proc 2 (P) line 10 "hymanl" (state 5) [((turn==i))]

10: proc 2 (P) line 15 "hymanl" (state 10) [cnt = (cnt+1)]
11: proc 2 (P) line 16 "hymanl" (state 11) [assert((cnt==1))]
12: proc 1 (P) line 15 "hymanl" (state 10) [cnt = (cnt+1)]

spin: line 16 "hymanl", Error: assertion violated
spin: text of failed assertion: assert((cnt==1))

13: proc 1 (P) line 16 "hymanl" (state 11) [assert ((cnt==1))]
spin: trail ends after 13 steps

#processes: 3

want [0] = 1
want[1] = 1
turn = 1
cnt = 2
13: proc 2 (P) line 18 "hymanl" (state 12)
13: proc 1 (P) line 18 "hymanl" (state 12)
13: proc O (:init:) line 22 "hymanl" (state 3) <valid end state>

3 processes created
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bool want[2];
bool turn;

byte cnt;

proctype P(bool i)

{
want[i] = 1;
do
(turn '= i) -> (lwant[1-i]); turn = i
(turn == i) -> break
od;

cnt = cnt+1;
/* critical section */

cnt = cnt-1;



want[i] = O

proctype monitor()
{

assert(cnt == 0 || cnt == 1)

init { run P(0); run P(1); run monitor() }
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